BEA a-bx+(b-2d) > 09 af7} x > 24 o, BE4
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ax® + (a+20)x + (a+ 3b) < 09] S FhH?

@ 3<x<T7 @ -3<x<1 @ x<2 x>3

@ -1<x<2 ® x<-2, x>4



RS 6 - 4x - 6] < 69 S5 o2

DO -2<x<6 @ 0<x<4
® x<-2%+=x>6 @ -2<x<0FE=4<x<6

® x<0EEx>4



@ -3<x<2

® -2<x<3

® -2<x<1



ZFEEA y2 _ 2kx + 2k < 0 0] & 2FA] S o,
()
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® -1<k<0 @ 2<k<0

®0<x<2 @ 0<k<2

® k<0,E=k>2



DE AL xof thete] x2 + ax + a7} -3 EoF A 7] Q)5

o) gre] Wele?

D -4<a<3 @ -2<a<4 B® -2<a<6

@ 2<a<4 G 2<a<6
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TFatodet (T, a & A
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OIZHTSA ax® 4 bx + ¢ > 02 W3 x 2 W7 2 < x <1¢

ofl, #5A ex? —ax+ b < 0-F WESh= x O H9E=?

1 1
D -2<x<1 @—1<x<§ @—§<x<2

1 1
@§<x<1 ©§<x<2



8. ol@sol IAEE o] §ste] o AHEA 2 4 x—6> 0 FW?

D x<-3E=x>2 @ x<-2F=x>3
@ x<-1E=x>4 @ x<0E=x>5

® x<1E=x>6
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= ZH?
2x24+x-3<0
1 3
@—2<x£§ @ -2<x<1 ®—§<x£1
3 1
@—7<xsi ® 1<x<2
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